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( PUBLIC FINANCE )

1, 959 2T e fo ; 1x8=8

Answer the following questions :

(@) IES Aeas <o Sazael |

Give an example of social goods.

(b) <Ry IS TeaEd |

Mention one canon of taxation.

(c) TS HRE R EICT 90l SIeRI a1 dIT
T ey 40
Mention any one source of public debt of
Government of India.
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(2)

(d) SEOE SEFE SR A (R IRAC! T
1 |

State the year in which the'Income-tax
Act of India was passed.

(e) SRS & @GN G971 T 61 SEeiel IR
Tz A |

Mention one example of developmental
expenditure of a State in India.

(VAT 3 7= ol oo
Write the full form of VAT’.

(9) cﬁaﬁmmwaﬁﬂﬁWWl

Mention a tax levied by Municipal
Corporation.

(h) ©HOR A [NOW SESE YT AN
e=sac il

Name the Chairperson of the Thirteenth
Finance Commission of India.

2. Eﬂ\ CBT@ %T‘ﬂ B 4x4=16

Write short notes on :

(@) IEre u= o Re
Private and Public finance

(b) AT EESTTR (T2
Techniques of budgeting
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(3)

(c) F9-3Z TSI
Taxable capacity

(d) =i [Rera

Deficit financing

3. (@) TR Re T 2 7R Rt agfe o
i fREcE e 4 2+5+5=12
What is Public Finance’? Discuss the
nature and scope of public finance.

21/ Or

(b) ‘TR e S Rors 7y 2 vt
e cFae OIReR 929 FlReR o1 41991 0 |
Crm 1”7 TSl i 4 | 112)
“The study of Public Finance has
assumed increasing significance in the

field of economic analysis in recent
years.” Explain the statement.

4. (@) ‘FOR e P B @ REw emEER
fafem wlerrmz o4t Resd 41 3+8=11
What do you mean by ‘Financial
Administration”? Briefly analyse the

various instruments of Financial
Administration.
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(¢4 )

91/ Or
(b) “w-fefe e’ % 2 2 srcaeSTe; e - \
DO I T | Stddd=11

What is ‘zero-base budgeting’? Explain
its need and pre-conditions.

5. (@) ¥ WRIR WA fa0 | oot W Rogeq
GO I ARATI AORPTYR Semy 91 | 3+8=11
Define taxation. Mention the effects of
taxation on production and distribution.

Y€1 / Or

(b) Wwﬁ%{%ﬁwawzﬁm Q2

R LT S Il AR By
HICAG 40 | 4+7=11

Describe various sources of public
revenue. Discuss the importance of

public revenue in the economic
development of a country.

6. (@) 9G¥ T e (Fq° 9@ I3 e
CTA® T SR 961 4 | 11
Explain the factors responsible for the
growth of public ex

penditure in case of
a modern State.
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(S)

- §2€1 / Or

(b) TR R ST Tmm W S
fqoR cwge et qE ool Roswa w11
Explain the significance of public
expenditure on the economic development
and economic stability of our country.

7. (@) @91 TmEEe AT TRIR 4F SRR
AL 91 1 53T 44 AReny 0 [{ew
Aoz 61 41 | 5+6=11

Discuss the impact of public debt.on a
developing country. Describe the various
methods of repayment of public debt.

%1/ Or

(b)) RE-IEPEE [er 7™ TFe FE e
SReN e W’y oEe W I
BICEb P4l | S5+6=11
Discuss the role and functions of the
Finance Commission’ in India in the
context of maintaining and promoting
Centre-State financial relations.

"
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( MATHEMATICS )

1. oo fill 2R R P et o o <o
: 1x10=10
Answer any ten of the following questions :

2 3 4

(@ |1 2 3| @R ¥m fagm 9
2881

What is the value of the determinant
2 & a

L) ge
2 3 4

(b) W [ T (Find the value of)
log\ls S

(c) e o et R gm0

What do you mean by deferred annuity?

(d) 3x+4y-5=0 @R 2gee; Ty 9

What is the gradient of the line
3x+4y-5=0?

(e) @Bl BrTa M R AR @ 3, 10 W
16k 2T k3 I fawey 0

If 3, 12 and 16k are three consecutive
terms of a GP, what is the value of 7
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(7)

2
0 3@ f(x)=ﬂ’—;f—5, CFRE £1) T T

e 2

2
If f[x):Lg”;*S, what is the value
of f(1)?

(g) SReTEE AN face! =i |

Write the first principle of derivative.

(h) LPP I JNIF{ AR ART Fafe @feqr eimst
FEI 2N 2

When can you apply graphic method to
solve LPP?

() =@ e [/ e

What do you mean by depreciation?

() @ quEE el e [ e
What do you mean by gradient of a line?

(k) &= =W 9 F41 (Fill in the blank :
Wﬁﬁrﬁﬁﬁ—{fé{@ @5‘]’@'{@!

Coordinate geometry is also known as
geometry.

@) &% 2 99 F90 (Fill in the blank) :
—— @ feICes Tafoq Tem i |
—— had invented simplex method.
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(8)

2. (@) () K3I I RNW 20 3k-7, Sk-1 W
14k +2 31 fofebr wearey s 21 2 2
For what value of k will the three

terms 3k-7, 5k-1 and 14k +2 be
in GP?

() (=5, 3) W% @, 5) R o TwSH o1
P ERCER A1 Bfreay | 3
Find the equation of the line passing
through the points (-5, 3)and 4, 5).

(iii) = Fefy <y (Evaluate) - 4

7’ 1
S el L
8176 x36-21

(v) RTX HS @1 qorE ANFAT Sfreqr | s

Derive an equation of a line in the
intercept form,

SR{T/ Or

® @ 4 5 =% (10, g 7 o wres sife
P TCER 2o fwp o 2

What is the gradient of the line

Passing through the points (4, 5)
and (10, 2)»

(t) 5x~6y+5=0 (aroEm SRR
CRAIR* fefy ey | :
Find the interce
SX-6y+5=0Q.
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(9)

(iii) AW (If)
logx=logy___logz
Yy-z z-x x-y

2, (OCTR'CE NI T4 @
then prove that

xy+z.yz+x.zx+y 2

(iv) (x y) Rt (2, 3) =< (4, 5) K7 TR
N1 B 10 o R o (M o A 1
9 @ x—y+1=0. 5
If the point (x, y) lies on the line
joining the points (2, 3) and (4, 5),
then prove that x—y+1=0.

3. (@ () 9 TEE T (QE W? TORAPR

o | 2
What is an identity matrix? Give
example.
(ii) S P00 3

Solve :

b dal L |

kel (=0

10 R
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(10 )

(iii) Tt

DI =D
A= 3T g
184 20a

E [ Bl 9T (T am, COCRTE
ST P @ Al = [A.
If

=
A=

= W N
N =

4
3
and J is an identity matrix, then

prove that AT = 14.

(tv) 2919 F9 @
Prove that
X a b
el p =[x—a}[x¥-b)(x+a+b]

a b x

2T/ Or

2
Give any twg differences between a

matrix and 5 determinant.
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4. (a)

(11 )

(it) 299 9 &
Prove that
1 1 1

b dlass? 1 =Xy 3
L el 2y

(iti) (TN S AT A AL A0 4

Using by Cramer’s rule, solve :
3x+y+z=10
x+y-z=0
S5x-9y=1

(iv) ooTe foal (Heerse S 4y 5

Find the inverse of the following
matrix :

= N =
= W N

() R e @R 4% e Jog T
825 531 ro-YA 924 53 97 2
In what time will ¥ 825 amount to

Z 924 at 4% per annum rate of
simple interest?

p15—6000/414 ( Turn Over )



(12

(i) I P b1 bz R ®E 2% R
I R, o' R RESICI ST
PRI 40% G =fr 2 3
If the population of a town Increases
EVery year by 2%, in how many years

will the increase In  population
be 40%?

(i) GAoA B =3 10% 2=® a6y =77 | @y
W@ﬂfﬁa%ﬂmso,oooﬁwmﬁﬁ
IR RR Prre ey 5,750 Bore
R&E 1 2% | mﬁmﬁn%mwm

A machine ig depreciated every year
at 10% p.a. The original price of
the machine was ¥ 50,000 and
after some years of use was sold
for ¥ 5,750. For what time wasg the
machine used?

() < ez o oy 3,00,000 $e7e

5
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(13 )

A person agreed to purchase a
machine at ¥ 3,00,000 with the
condition that he will pay & 2,00,000
at the time of purchase and the
remaining amount together with’
12% interest compounded half-yearly
in 20 equal half-yearly instalments.
What will be the amount of each
instalment? (Givenlog10-6 =1-0253
and log31-19 =1-494.)

S/ Or

(b) (i) T R =WF AErs (R iww Brar 2
Write the definition of immediate
annuity and annuity due.

(@) "R 21% veqfa =W oo fawm
5,000 o Teaem foew@ e «bre
IO To fF 2 3
What is the present value of a
perpetuity of ¥ 5,000 p.a. at
) %% p-a. compound interest?

(i) o ARG 18,000 B wom e
FAO 4% WA 4 1% 9 TR o 4Re
%Iﬁwiﬁﬁﬁﬂiwvim@g{})
4,620 531 7S [z, c%@mmw
&M 59 4rte ke o 2
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(14 )

A person lend € 18,000 to two
persons at 4% and 41% simple
interest respectively. After 6. years
he received ¥ 4,620 in total as
interest from them. How much did
he lend to each?

(iv) @1 Gfo7g &1 79 1,00,000 51 W
B[R G 12 =91 12 599 Pige
R DS T A =7 7B 79 F9re
30,000 B9 W 20%. TgH o T
WA 12% vfa ToT IO Ao TR
o= bt o SRE =i 2 5
A machine cost ¥ 1,00,000 and its
life period is 12 years. The estimated
scrape value and the increase in the
cost of machine after 12 years are
¥ 30,000 and 20% respectively. Find
the amount of each equal annual
instalment to be deposited at
12% p.a. compound interest to
replace the machine after 12 years.

5. (@ () s = Serfie v dew oy |

Give the definition of surplus and
slack variables.

(o]

(t7) LPP 3 Sfsqmepryz fore | : 3
Write the assumptions of LPP.
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(15 )

(i) @B @ foffRea 71 A, B W C
TR IR AT WF 2SR 71 cora
oS TS 3 5, 2 59 WIF 4 5l | 3
R T F@Awe 251 @b M,
SIE M,3 Al IR S0 | ererd
. CuMDTE 25T ST (D) TeFo fra 4997 -

7
A FBHING
A A R T TS
My| 2 2 4

@ M, W€ M, Hife 2000 95
S 2500 99[F IR I FRE S |
e Sffeey o faRe e oS LPp -
AZO 47 | 4
A company can manufacture three
products A, B and C and the profits
to be derived from each unit of
the products are ¥ 3, ¥ 2 and ¥ 4
respectively. The firm requires to
machine M; and M, to manufacture
the products. The machine hours
required for the products are

1 IR T S

2| 2 2 4
Machine M,; and M, can work for a
maximum of 2000 hours and 2500
hours respectively. Formulate an LPP
to maximize profit,
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( 16 )

(iv) @foa wfRcs oo o LPP 3 s
91 : S
Solve graphically the following LPP :
SfEFoT T+ fiefy oy (Maximize)
Z =5x + 7x,
CAICT (subject to)
2% +3x,5<13
3x; +2x, <12

X1, X5 20
{1/ Or

(b) () LPP S tzeel qfiea & qo2 2

What do you mean by duality
in LPP?

(i) TPTR-AMET F@e LPP 3 i Ry
afb 5 R fore | | 3

Write a short note on the uses of
LPP in business and commerce,

(iti) A= TR siffee wiRes B 4

Write the mathematical model for a
transportation problem.
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(17 )

(iv) TRICAIT “mafo casl SR A= F7 - 5

Using simplex method, solve :
Sfgey I+ F F91 (Maximize)

Z =6x; +8x,

ARATF (subject to)
Sx; +10x, <60
4x; +4x, <40
X, X5 20

6. (@) (i) IW FoF T YW TR OIS TRIZAC
o 1 2

Give one example each of even
function and odd function.

(i) @b Ko Fom GDOR SFAEE Sy IE
AF{ FOREAR o1l | 3

Write the conditions under which
derivative of a function at a point
exists.
(iii) W= e wr 2x0=4
Evaluate :
B D

i 7x > 4x° + 7x

x> 10x° ~4x3 +7

(2) diign MRS V2 -

x—0 x2
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(18 )

(@) y=2x3-21x2 +36x - 20 T EERe

S TGS J+ ey 4 | 5
Find the maximum and minimum
values of the function

Y—'2%8 =012 +36x -20.
¥q1 / Or

(b) () ¥ R @ <GB Rge 9w YR e
fert | 2

Write the definition of limit of g
function at a point.

(ii) y=xexlogxi’ﬁ,%ﬁﬂﬁﬁwm? 3

If y=xe*logx, what is the value
of @?
dx

(iii) S fefy 3w OxD=4
Evaluate :

2
(1). lim X_+4x-5
x—1 x-1

@) tim Y ta-Va—x?
SElE AR

x—0 x2
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( 19 )

(iv) T y=Ae?* +Bxe®*, (SGRTA AN
Fq

2
AY 4% 4y-0 5
de?  dx
Ify=Ae®* + Bxe?*, then prove that

2
diyed dy+4y 0
dx dx

* %k K
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